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B\ 1T H 263 270 298 568|T » WM 5 T H 539 556 535 1,091 (% BT 7 T H 1,287 1,559 1,422 2,981 |[f AHT3 T H 220 250 219 469
B W 2T H 364 343 371 714|F » WEET6 T H 383 373 409 782|% M7 8 T H 613 720 651 1,371/ | 4,712 5,011 5,081| 10,092
B W 3T H 291 332 311 643 =t 9, 642 9,979| 9,812 19,791|¥ KT 9 T H 1,336 1,381 1,124 2,505\ " {%)21TH 92 98 92 190
1T A 147 144 137 281 | e 589 633 643 1,276|K BT 1T H 114 99 107 206| _{=E2T H 332 368 361 729
2 T A 107 94 87 181(8 L BT 1 T H 346 404 372 776K S BT 2 T H 526 548 522 1,070| =R E3 T H 293 310 326 636
7 e 3T A 135 151 174 325|% L BT 2T H 672 685 694 1,379 =t 9,654| 10,710 9,760 20,470 " {% 24T H 128 117 125 242
£ L HT 277 252 264 516|% L BT 3 T H 1,591 1, 462 1,424|  2,886| ;L ET 1 T H 816 825 846 1,671| R E5T H 90 106 97 203
%S My 433 412 417 829(%F L M7 4 T H 805 786 769 1,555\{r A W] 2 T H 310 343 308 651 £ 1 T H 86 68 72 140
fip T 207 194 196 390K M 1 T H 839 933 871 1,804 (] 0 BT 3 T H 238 255 254 509[R # 2 T H 111 118 112 230
s My 127 105 119 224k M 2 T H 332 380 401 781\ A WT AT H 766 688 678 1,366[R H# 3 T H 124 116 106 222
& K Wy 176 197 195 392[K M 3 T H 746 856 891 1,747 SO BT 5 T H 760 723 721 1,444 |8 & A HT 159 141 163 304
#o1m My 416 395 429 824 |4 A 463 432 521 9533 L M6 T H 1,255 1,244 1, 256 2,500|t & 1 T H 50 41 39 80
X 7 WA Wy 505 518 517 1,035 |4 g 484 531 544 1,075 {r JB W] 7 T H 1,146 1,031 1,104 2,135|# &2 T H 65 61 57 118
W/ Lk omy 311 281 285 566K B N1 T H 273 312 313 6253 0 BT 8 T H 819 842 727 1,569 | & (L 40 57 67 124
KB HT 504 498 498 996| K B F 2 T H 273 342 331 673 L BT 9 T H 958 805 904 1, 709 (/)N G 1,570 1,601 1,617 3,218
HimFnMELT H 202 194 204 38|14 ¢ 1 T H 623 831 804 1,635 ({/ D ET10 T H 956 790 761 1,551 | W 1 T H 305 226 247 473
HimFnmE2T H 248 248 260 508|4 ¢ 2 T H 162 219 221 440 7t 8, 024 7, 546 7,559| 15, 105|%= W 2 T H 85 88 79 167
HimF1ME3T H 314 364 355 71914 S 3 T H 388 518 445 963 & L T H 186 188 200 388|& [ 3 T H 185 149 132 281
it 5, 027 4,992 5,117| 10,109(4 =F 4 T H 625 759 714 1,473k #& 2 T H 1, 067 1, 266 1,207 2,473/ K1 T B 102 97 105 202
B KB 1T H 235 259 257 516/ ¢ 5 T H 542 653 668 1,321 # 3 T B 385 402 419 821/N&K2T H 45 47 52 99
) ARBT2T H 363 372 355 727 E 9,753 10,736| 10,626 21,362|4 H 1 T H 1, 405 1,454 1,474 2,928/ K3T H 172 180 189 369
B K BT 3T H 211 239 261 500|% & M1 T H 491 420 488 908|454 2 T H 1,075 1,077 1,132 2,209/ K4T H 215 151 209 360
E W 1T H 717 673 672 1,345\ H M2 T H 829 762 781 1,543(4 3 T H 871 937 908 1,845|/h& A5T H 74 74 83 157
E W 2T H 741 812 812 1,624 & #E 3 T H 1,127 1,074 1,094 2,168|4 # 4 T H 0 0 0 OJE W1 T H 252 171 213 384
E W 3T H 399 480 460 940(3K F 4 T H 778 654 651 1,305(4 5 T H 165 52 137 1891 R 2T H 244 259 244 503
E W4T H 805 785 871 1,656 | & #E5 T H 1,038 932 998 1,930 E 5, 154 5, 376 5,477| 10,853|H R 3 T H 224 162 199 361
E W5 T H 530 499 534 1,033 # #E 6 T H 399 433 386 819|/Is & 55,263| 56,859| 56,064 112,923/ 1,903 1, 604 1, 752 3, 356
E W 6 T H 212 210 231 4411 » /1T H 389 383 394 I o1 T B 348 393 350 T43|R A1 T H 205 159 208 367
E W 7T H 493 489 422 9ILMR » /2T H 768 614 746 1,360 2 T H 401 419 431 850|pk A 2 T H 213 209 161 370
E W 8 T H 278 294 283 577\ [ BT 1 T H 346 397 378 75 3 T B 463 502 492 994|pk A 3 T H 100 110 105 215
E W9 T H 4 4 4 8|fifi [ BT 2 T H 776 850 853 1,703(Fn HET1 T H 212 229 222 451|p A 4 T H 51 44 48 92
K HEET1T H 308 312 298 610|Ffi [dl BT 3 T H 608 599 540 1,139 (Fn HET2 T H 290 294 309 603|pk A 5 T H 77 68 69 137
K HEET2T H 330 303 290 593 |ffi [ BT 4 T H 460 402 404 806 48 1 T H 180 220 218 438|pk A 6 T H 37 41 37 78
K HET3T H 336 375 354 729 Rl 8, 009 7,520 7,713 15,233 |#¢ 4% 2 T H 204 217 253 470|p A 7 T H 64 67 65 132
K HBTAT H 313 360 352 712|1% BT 1 T H 1,221 1,363 1,326 2,689 (#E # 3 T H 186 199 204 403|p A 8 T H 88 98 76 174
K HHET5 T H 314 349 343 692|%1 BT 2 T H 869 962 852 1,814 (#F %6 4 T H 229 257 242 499/ G 835 796 769 1,565
T WEHT L T H 653 671 670 1L,341|%¥ BT 3 T H 1, 554 1,618 1,471 3,089(#E # 5 T H 533 605 647 1,252 |t 8% BT & &t 9, 020 9,012 9,219 18,231
T WEHT2 T H 564 584 576 1,160 AT 4 T H 731 767 767 1,534 |4 %6 6 T H 573 639 578 1,217|& 7t 64,283 65,871| 65,283| 131,154
T WEHT3 T H 419 501 412 913[%r BT 5 T H 1,303 1,571 1, 403 2,974 |M AR BT 1 T H 360 396 392 788
T WEHT4 T H 495 479 411 890(#r M 6 T H 100 122 115 237|# AR BT 2 T H 513 391 524 915




